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QUESTION 1

An administrator is creating a vApp for a multi-tiered application and needs to configure custom startup actions for each
virtual machine. What should the administrator do to enable this functionality?

A. Verify that VMware Tools is installed on each virtual machine in the vApp.

B. Ensure all virtual machines in the vApp are running hardware version 8 or later.

C. Configure custom startup actions on the virtual machines, then add them to the vApp.
D. Deploy a vSphere Management Assistant in the cluster and enable the vApp plug-in.

Correct Answer: A

QUESTION 2
-- Exhibit -
ﬁ E_j iﬂ Home b gf Inventory (b [ Inventory
E @ ‘_?_ [ Inventory Ctrl+Shift+H
E 172.16.245.156 localhost localdomain VMware ESXi, 5.5.0, 1106514 | Evaluation (60 days remaining)
[ et Summary | Virtual M " Resource Allocation | Performance | Configu
-- Exhibit -

A vSphere administrator installs an ESXi host and creates a virtual machine, then installs vCenter Server. Upon
connecting to the environment, the administrator notices that several inventory views appear to be missing from the
Navigation

Bar as shown in the Exhibit.

Which condition would result in this behavior?

A. The vSphere administrator is logged directly into the ESXi host.

B. The vSphere administrator is logged directly into the vCenter Server.

C. The vSphere administrator has limited permissions on the ESXi host.

D. The vSphere administrator has limited permissions on the vCenter Server.

Correct Answer: A
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QUESTION 3
A vSphere administrator is attempting to upgrade an ESXi host using vSphere Update Manager.

The administrator has attached the baseline and remediated the host. Update Manager reports the remediation process
has completed successfully. However, upon inspection the host is not upgraded.

What is the most likely reason for this issue?

A. The ESXi host has less than 10MB free in its /tmp directory.

B. The user performing the upgrade has insufficient privileges.

C. The Update Manager service has not been configured with root level access to the host.
D. The baseline has been configured using an invalid ISO image.

Correct Answer: A

QUESTION 4

A vSphere administrator needs a way of sending noncritical ESXi events to a remote server. Due to budget constraints,
no additional costs should be incurred. Which tool will best meet this requirement?

A. vSphere Syslog Collector

B. vSphere ESXi Dump Collector
C. vSphere vCenter Log Insight

D. vSphere Management Appliance

Correct Answer: A

QUESTION 5

-- Exhibit -
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--Exhibit -A vSphere administrator assigns VLAN 3389 to the Production port group on the VCP_DCV_Example
vSphere Distributed Switch. After the change, users report a loss of connectivity to their applications. Further analysis
provides the following data:

The cluster has not had a ESXi host failure.

Application functioned normally prior to the change.

The loss of connectivity occurred immediately following the change. Which condition would cause this loss of
connectivity?

A.
The physical switch ports used by the vmnics have not been configured with 802.1Q.
B.

Maintenance Mode was initiated on one of the hosts in the cluster. Connectivity will resume after the virtual machines
are migrated.

C.

All uplinks were removed from the VCP_DCV_Example switch and added to another virtual switch.
D.

A load balancing setting on the port group conflicts with the load balancing setting of the switch.

Correct Answer: A
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